SN
X XH .
(=

chel:

2 & M

A

_ _ MNuE o
N33 S2(3H) - MEAMY - BES Ol &+ 9K Ofl At ot HwsZ
SAA D 2,840,660 3,060,469 ~219,809
= 52,797
p 240,016
= 790
= 166,993
Al 2,380,064
P02 J|s 23 2,601,052 2,811,964 A210,912
= 52,797
g 240,016
2 790
= 166,993
Al 2,140,456
SACABAHIA IS 583,636 799,418 A215,782
= 790
Al 582,846
BAOABAIL L FHH R 117,900 100,000 17,900
201 Ygreg| 46,700 14,400 32,300
02 Zz2Y| 46,700 14,400 32,300
O3. AEZHIRX ] 46,700
> EAK)A AL SxZ2
1,000,0008! * 122 12,000
>EAKA IR HHI(XI DY S)
400,00021 *12% 4,800
> X MBI 4RI (RBA)
2000002 *14] 200
> 2 AFAL U (0101 X2 AL 2165)
3,000, 0002 14! 3,000
DUAYED X (FIIHHI)
4,000,0002 14! 4,000
>EIAHE AL Y| S 2
3,000, 0002 14! 3,000
>E2IXEA FH KX
1,700, 0002 14! 1,700
>IRHA S Y OIFKE SEHE 8
o 18,000,00021 *14] 18,000
401 ASHLLHH 68,400 41,000 27,400
01 A&l 68,400 41,000 27,400
OAZHBAX L JEAS HIH(2Y)
40,000,0002 *14} 40,000




SN BAAY D
HM: PAHOR Js 25
el BHOZMHIA J|EIRS (982
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
OBAXA MERX HEMI(2Y)
3,900,000 x1A! 3,900
OSABHIA HASU2 A
8,000, 0002 * 1Al 8,000
OEAHX A "2 DH(SHMA2MA)
16,500,000 * 1Al 16,500
405 KHAHE SHI 2,800 35,000 A32,200
01 XL EEFEH 2,800 35,000 A32,200
Oz 7 300,00024 *1JH 300
ONsSLHEHI| 2,500,000 = 1CH 2,500
SBAAY 24X 465,736 494,830 A29,094
=2 790
Al 464,946
201 LEr2YH| 125,296 151,366 A 26,070
01 AtR22lH] 23,980 11,800 12,180
O1 Yt2H| 20,000
DOZHIIES &H =2 9,600
OEAHA 120,000 * 122 1,440
OBAHXA 2 B A
40,000 *1700 A+ 122 8,160
DASE HA 2,000,000 13| 2,000
D> ABIOFE A 21 (300 A) 1,200,000 x13] 1,200
DI A A 3,600,000 23] 7,200
02 fIE WS 500
DEHAIE T E DS 50,0002 x103] 500
O3 2424 980
DRGEHAZAMRRAZ =
70,000 70123 980
O4 TI=24| 2,500
DAME(IIR) 50,0002 *509! 2,500
02 2229 101,316 139,566 A38,250
O1 2222 2 HA 57,100
DASHES A2Z2(6IHA) 400,000 122 4,800
P SDIPNE=3=1 450,000 *90 A 122 48,600




S BAAIG D
MM BAOZ J|s 235
CHe: BHOZMHIA JEtRE (&te &2
_ _ SN E N
2AH -3 - SH2A(SH) - MEAMY - BHES 0 Ak oH qua BlusSZ
DEZNHRES (XU, HER)
600,000 *23| 1,200
DAYOIME S| (Yat, & s2elXt)
200,000 *13] 200
PHNESYRHZ 300,0002 * 170 A 300
DiUEEE 500, 00024 *4CH 2,000
02 ¢ 24| 24,587
DEAHESR
99221 #1052 *8A| 2+*5JH A x500,000kcal /100,
000kcal 20,832
D> LHEEIEA (LPG)
7452 %1052 *8 Al 2+*2JH 2 300, 000kcal /100,
000kcal 3,755
O3 A& ZHIS X 10,000
DEHESAIAL X2l (Ydal nE)
10,000,000 * 14! 10,000
O4 X2k det] 9,629
P2 AH 4,987,000 *1CH 60/ 100 2,993
P2 2 3,080,00024 *1CH*60/100 1,848
>3tle AH 3,416,000 *1CH 60/ 100 2,050
DoMEA 4,563,000 *1CH 60/ 100 2,738
202 0fH] 92,100 94,120 A2,020
01 =2LH0iH 85,800 87,120 21,320
OBAAMEEZ 85,800
DEAA 1,000,000 122 12,000
>EAXA 5,510,000 128 66,120
DEHIZ A 640,000 x 122 7,680
04 =HzHodH] 6,300 7,000 AT700
OBHA ADZTEA G124
6,300,0009 * 14! 6,300
203 YR=XH 7,000 7,000 0
03 AIMEXAREZAY| 7,000 7,000 0
OBHA AHAD2 =X 7,000,0008 x4l 7,000
301 LBt A= 241,340 241,870 530
2 790
Al 240,550




SA

ALY
Hm: 2292 J5 2at
chel: PRS2 MHIA JIBRE CLRE
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Egﬁ Hws2
10 BAAHIZAZ 1,190 1,190 0
ODISHYY 240 AT 24
1,190, 00021 *14} 1,190
= 790
Al 400
12 JIEt2 43 240, 150 240,680 A530
OBE=AAM 240, 150
PREHSHAS 700,0002 +2791 #1224 226,800
PHS 9 2418 150,0002! %1501 #15] 2,250
>OISE2 ofb| 925,000 * 122 11,100
SHEAYRL 1,180,883 1,200,334 £19,451
= 1,940
| 225,719
& 73,375
Al 879,849
Moo ALK IF 1S 3,380 2,630 750
= 1,940
Al 1,440
201 L2yl 2,900 2,230 670
= 1,700
Al 1,200
01 AfRaelt] 2,900 2,230 670
O2. FALDEY] 2,900
> dEgRel ALY DS
1,200, 0002 +22! 2,400
2 1,200
Al 1,200
> HYBRY NSDSUY DS
500, 0002 * 12! 500
= 500
202 04l 480 400 80
= 240
Al 240
01 =Uhotd 480 400 80
OFge ARNBY DSOIY|
240,0002 x29! 480




M BAAY D
M 2292 Jls &3
Hel sddgd e (&)

_ _ MNuE o
Ao~ S2(E0) - MPAY - BYS Aol il b o bRz
= 240
Al 240
EDIVEEE= 431,614 166, 831 264,783
| 215,807
= 73,375
Al 142,432
307 2120l 431,614 166,831 264,783
] 215,807
= 73,375
Al 142,432
SREEEEET] 431,614 166,831 264,783
O EIE-F-L=T 431,614,002 %141 431,614
| 215,807
= 73,375
Al 142,432
S QL B2 339,460 641,700 A302,240
201 g2 3,000 2,000 1,000
01 A= el 3,000 2,000 1,000
O1 ger+2H) 3,000
PEEY U 00X YRR
3,000,000 14! 3,000
202 oft 2,960 10,200 2,760
01 =LHoIb 12,960 10,200 2,760
OUSEEMY =T 1,080,008 * 122 2,960
307 2120l 323,500 629,500 306,000
UREEEEET] 323,500 629,500 306,000
ONYES wY 283,500
>REITA(RE) 3,50021+2,0002! 7,000
P RBSSA(ABRAT)-RE
5, 10024 %32,0002! 163,200
> (RB) 3,000 %10,0002! 30,000
PUSSREHS(R2) 7,30021%2,0009! 14,600
PAF(RR) 11,0002 +1,5002! 16,500
>TO(RE) 12,0002 %3,5009! 42,000
>BE Y (R2) 3,40021%3,0002! 10,200




2AM: EHAE
B 292 IS U5
el SaFgH e LR
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OA0t0tHI 2128 (Y R 01) 30,000,000& * 14! 30,000
OWgLES JIAHM 10,000, 0003 * 1A 10,000
YALS 386,604 369,673 16,931
101 @IAH| 19,504 66,738 ANAT,234
10 JIZHZ22HsSEs 19,504 66,738 ANAT,234
OgdArs 19,504
>E2AAL 18,904
oJlEg 41,300 221130 10,738
(ORR=E =y 41,3003 20! x28 2,313
OR=d0: 1=} 41,3003 221 x252 x23 4,130
OKHEEH 13,051,000 *4.284/100 560
OLNEEE 13,051,000& *1.75/100 229
(O gk 13,051,000 *2.54/100 332
o=8dz 13,051,000& *4.5/100 588
oOWILEH 332,000& *4.05/100 14
> Il =4l 600
o=282=s 200,000 20! 400
0223 100,000& 22! 200
201 Let3| 8,700 3,000 5,700
02 232934l 8,700 3,000 5,700
O1 3322 % HA 2,400
>GPS AMPEZ 50,000 *12CH x4 & 2,400
O3 A& & dls Xl 6,300
DXHARASI| 100, 000-& = 10CH 1,000
PEUHHASRAS 50,000 »40CH 2,000
PSR EI| 110,000 *30CH 3,300
206 M=l 112,400 199,135 A86,735
01 &l 112,400 199,135 AB6,735
OgALA=xE 83,600
DESEHSAH 40,0003 *500 £ 20,000
>ESFSAAM 15,0002 %200 £ 3,000




M BAAY D
M 2292 Jls &3
Hel sddgd e (298

A BB O (3) - NBAY - BaS Ao gggf; HRS2
DHREMS 48,0002 *1,000 £ 48,000
DREELMS 42,000& 300 £ 12,600
OYALERR 28,800
D 21,600
(OX=-18= 1,800& *12,000 £ 21,600
> Asgda 7,200
(OF=--1g 1,800& *4,000 £ 7,200
307 QIZtOlA 240,000 57,600 182,400
05 oIt 240,000 57,600 182,400
OBHA gtdASE G 2H(2,H
o) 250,000 * 120 &€ M =80 240,000
405 AHAHS SHI 6,000 23,200 A 17,200
01 XML SEFSHI 6,000 23,200 A 17,200
Ol sgrolas 1,000, 000& *6CH 6,000
SHESEHEHESY 19,825 19,500 325
Jl 9,912
Al 9,913
101 Q14| 19,825 19,500 325
J| 9,912
Al 9,913
10 JI2ZHHIZ2 2 Xt 19,825 19,500 325
OUYEESE o124 d|
19,825,000& * 1A 19,825
J| 9,912
Al 9,913
ot a2 327,722 343,514 N15,792
= 50,857
Dl 4,930
== 73,947
Al 197,988
sty 22| 101,714 151,018 A49,304
= 50,857
= 50,857
301 Let8gAaa 66,856 117,320 AB0,464




SH: EAALT
HH: 902 J|s As
ool prgg e (e19: @8
SA BB H(BH) - MBAY - B2 Ofl & o %ggig HRs2
01 YsrPAS 2 33,428
= 33,428
01 ANISEH2HI 66,856 117,320 50,464
O BHIR X MHH X2 (45%)
66,856, 0002 *14! 66,856
2 33,428
= 33,428
307 QI2t0IF 34,858 33,698 1,160
2 17,429
= 7,429
05 QIZtgIErz 34,858 33,698 1,160
O BHIZHOILRAIL 2AX &
34,858,0008 %11 & 34,858
= 17,429
= 17,429
WOI= X Ao 9,860 10,686 ~826
| 4,930
Al 4,930
01 YA 800 800 0
| 400
Al 400
01 NIBEEIHD 800 800 0
O8gAT U 2| 800,0002 *14] 800
I 400
Al 400
307 Q20| F 9,060 9,886 A826
| 4,530
Al 4,530
NEEEEEEL] 9,060 9,886 826
OB EICHAI 20H 3,036,000 14! 3,036
p] 1,518
Al 1,518
OO0l ZZISHAISE 2 0H 6,024,0002 14! 6,024
p 3,012
Al 3,012
orEY A 161,070 9, 660 64,410




A 2AAYD
B 2208 Jls Y5
£9: orgE e (el al
_ _ SIEN
SA-E . S(E) - MEAY - BES 0 & 24 i HIRE
201 ZEr=3H] 1,560 2,700 A1,140
01 AtR2teld 1,200 0 1,200
O1 LBt=2H| 1,200
D EHHHHI (HEZ A S) 100,000& «12& 1,200
02 52294 360 2,700 A2,340
01 2222 % HA 360
PHEHAD BB BUE ASE
30,000& =12 360
202 OdHl 500 10, 100 29,600
01 =LAl 500 10,100 A9,600
Oz AtE =& 20,000& x253] 500
307 QI2t0IA 94,360 77,260 17,100
01 =P =4 94,360 77,260 17,100
ONALIFAMAS 5,000& =400¢! 2,000
ZE i AN B=E 2,000&*1,500¢! 3,000
OB AFAI &L DX 7 (2t , 20018, 4
S, 00l =Z A 2&) 65,000,000 *14] 65,000
OBTA I P (RS2A3E)
2,500, 0003 *14] 2,500
OZT LA U FH@e| I 2
LA EE 228 3,000,000 * 14! 3,000
OIIME 2Ms4E 3,260
PRI 1,200& *2,500¢! 3,000
>2AES 1,300& *200¢! 260
OZdsti &2 A At 3,200&+3,000 9,600
OZ#BT LS HES =A
300& *20,000A 6,000
405 KHeHHE SHI 64,650 6,600 58,050
01 A =SSFHSHI 64,650 6,600 58,050
Og HMBUE D (48021E)
1,000, 0003 = 1CH 1,000
O2Ad=s HALEH 55,000,000& 1CH 55,000
OZated M HAHD| 8,000, 0003 = 1CH 8,000
OAl%Z=FDI 650,000 * 1 CH 650
ZH - SEIIEE R0 21,000 16,800 4,200




- o o o o o o o o o o
i S S g g 2 3
K =0 e 7S — — — N
0l
= H
D
5 2 5 2 g g 3 g 3 g
w 7o) ') ~ N~ Te)
LH3r
uiled!
KIS
o o o o o (@) (@) (@) (@) o o o (e} Yo} Yo} (@) () [Ye) Lo (@) Yo} f9] () (@) L0 L0 o o (@] (@) (@) (@) (&) o
8 2|8 8 RI8 S 8R|g 8§ gl ¥ e 8 Yol ¥ e B ¥e|legile S 8K|R
© < | = ©o <|= — o < | - < © — < |o © ~ < |«
~— [aN} ~— [a\] al ~—
3
<
=
H = W = H =< H = W = H =< W = H =< W = =
i R R i
o 2 2 2 w
70 S S 5] u S
A S r 3 3 IS
. =<2 ujo %0 —
— ~ ©
&l IR H =
II.AI Y| K0 A0
I R (H0 = il
= A0 o A0 UAn
e o o 5 20 5
— o = ) T =
= n o = ok o
ol 5 o AL =
o | O Rl i ut 5 U = R
= | = 3 ol G Ki ]
N [ 0 — —_
orf_ Kl - no R M mw R - m o T
U = K @ o 0 =] w K0 K o & Pl
- D < o ° — s W =) H W 2 oF A0 =<
g0m & | o n N = = = & > o 30 Y N 2
amm| R | o) sl A K =] oA ° z A g ol A S ~
= o1 %0 - O ] N O _ O - e w
Nl x| R = 8 B0 S S = S S 8 &
HMHa| g |m Ao \
r ok
0 01
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’J
oF
oJ

S S 3 S g Q < S S
© «© Al [qV] (o)} ()] — — —
- < o N < < <
<
Klo
E
D
< < 1) 2] %)
LH3r
uiled!
KIS
< © o (@] o o o o o (@] <t © (@) o (@) <t © o o () o o (@] o o (e} (@] o D M~ (=] @ M~ ()
2 38298 8 Y8 5B 83 IR S8 988 888|588 2|58 €SS
— — — |= — — | > SV IS SV Fee)
3
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=
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PN SHAS D
Zu: 902 s 23
Chel: DHA B (sl a e
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
SECECESFETICERENEEL]
ZAH) 70,000& x10¢! 700
= 210
Al 490
OHlZsigard = 2|22 (Real time PCR
ZAL) 70,000& *33¢! 2,310
= 693
Al 1,617
St Zs AFE ZI|ILAAS 21,888 22,800 A912
= 13,133
Al 8,755
307 QI2toIH 21,888 22,800 A912
L= 13,133
Al 8,755
05 BGIZtREZ 21,888 22,800 A912
SEIVIET PSS ST
2,4002+9, 12001 21,888
= 13,133
Al 8,755
SE=ONE-C] 508,811 468,698 40,113
Il 9,367
& 19,671
Al 479,773
=X 445,074 415,390 29,684
201 ZEH2IH] 25,764 18,300 7,464
01 Atf2teld 21,540 7,200 14,340
O1. get=EHl 21,540
DEIAFA AT FHOIE A 500, 000& 1 CH 500
DolAg 0l HH=HZ 80,000& x12& 960
DUAMTIZHZHASLE 20,0008 #43] 80
>oEdl MEIIE 2 =2
100,000& «10CH =122 12,000
D> &A= 50,0003 1008 A 5,000
PHSYEX (ALTESAL 25F)
1,000,000& 33 3,000
02 23244l 4,224 11,100 A6,876




PN SHAS D
B D202 Jls Y
ool MR X (ol d 8l
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
O3 A€ &HIs Xl 4,224
DotdE s AFAACANAE SRNE>
4,223, 1003 *14] 4,224
202 O4Hl 7,560 13,800 A6,240
01 =LHAHI 7,560 13,800 NG6,240
O0lsd =X 630,000& 123 7,560
307 gI2tol& 360,300 375,940 A~ 15,640
01 2%+ =l 360,300 375,940 A 15,640
OXEAZH(BEAL) 60,900
PALEE , S0HEX 43
1,500,000 123 18,000
POlsSEHA A4S 1,000,000& 122 12,000
DAYEZ AE 10,000& 60021 6,000
D20 HEXd 4S5 6,000& *500¢! 3,000
DHESIHSA A4S 6,000& *500¢! 3,000
DEtiE A4F 1,000,000& 122 12,000
DAz, e 2eXEA AMMNE (ST
X26E) 550,000& 123 6,600
> & x= 30,0002 10 300
OXZAZHI(EAX & 9HL) 299,400
DESUS 22,000,000& 122 264,000
DI E A*F 1,000,000& x12& 12,000
DX %S 500,000& x12& 6,000
DRAMIHE (M Z, 8, X
1,300,000 x12& 15,600
D AR (X)) &XI= 450,0003 »4& 1,800
405 KHebE SHI 51,450 7,350 44,100
01 L SESFHSHI 51,450 7,350 44,100
OXsg A 300, 0003 1CH 300
O=2< 2 250,000 1CH 250
OEtXHHAID| XHH OO0l =& 200,000& »2H 400
OgAId A gt=ets)l 30,000,000 *1CH 30,000
OFPC 1,300, 000& = 10CH 13,000
OPC 2UIE(19") 300, 000& *25CH 7,500




SHT BANL
M#: 92192 J|s 2
el MEX e (9l &2)
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
BHolorAle D52 Y 10,575 14,082 A3,457
| 7,050
Al 3,525
201 L2yl 1,075 2,132 A1,087
| 685
Al 390
01 AtRZelt] 1,075 2,132 ~1,057
O1 LersgY| 1,075
>EIolorAlY ERE W AT
1,075,0002 14! 1,075
p] 685
Al 390
202 OFl 3,000 2,500 500
| 2,010
Al 990
ENEE 3,000 2,500 500
OBt oA Z X 01| 3,000, 00024 *14} 3,000
p] 2,010
Al 990
307 eIztolH 6,000 7,700 A1,700
| 4,020
Al 1,980
NEEREET 6,000 7,700 A1,700
OBt ALY =X 4B 6,000,0002! *14} 6,000
p] 4,020
Al 1,980
405 THeHE S 500 1,700 A1,200
| 335
Al 165
01 XAUSEHSH] 500 1,700 A1,200
OCIXIE 0 2H (Bl oFAted) 500, 0002 * 14! 500
p] 335
Al 165
KE e X O 2HI X 25,564 16,072 9,492
= 12,782




2AM: EHAE
M QAR Js 2
ol AT L)
S EB ORI (B) - HRAIY - BAS Aro Bl 2
Ol &k
HE LS ol 26X Al 12,782
307 gQiz2tol™ 25,564 16,072 9,492
& 12,782
Al 12,782
01 dz2+=4| 25,564 16,072 9,492
OIS /2 X 18,264, 0002 14! 18,264
= 9,132
Al 9,132
O&H A 23l K& 7,300,000 * 14! 7,300
< 3,650
Al 3,650
SAHIZ A LolHz2e 20,000 20,000 0
= 6,000
Al 14,000
307 2IZ2tolA 20,000 20,000 0
& 6,000
Al 14,000
01 Az F=4| 20,000 20,000 0
OEAZA Lol2g
20,000, 0003 * 1A 20,000
= 6,000
Al 14,000
SHASRAZ 22 AAE 2,964 3,204 A 240
= 889
Al 2,075
201 B2 2,964 3,204 A 240
& 889
Al 2,075
01 At=2teldl 2,964 3,204 A 240
03.29+¢ 2,964
Dot 2e| M=
2,964,000 14! 2,964
== 889
Al 2,075
shojor x| 4,634 0 4,634
| 2,317




SA AR
HH: 22092 Jls Yd
ol S (SHol:®el)
_ _ HE T
SN -HH - SA(B) - MRAY - BES 0 Ak o4 0 At of Hlus2
Btol ot x| ot 2t A 2,317
201 LEHRHH| 1,634 0 1,634
Il 817
Al 817
01 AR 2&cldl 1,634 0 1,634
O1 gsi+gY) 1,634
>EHOoF XIS BANY 2|
1,634,000& * 14! 1,634
Il 817
Al 817
307 QI2t0IA 3,000 0 3,000
Il 1,500
Al 1,500
01 g2+ =l 3,000 0 3,000
Oftolor NABAAIY BT
3,000, 00021 % 14! 3,000
| 1,500
Al 1,500
ootz el 36,620 40,300 3,680
olotE ot Tzl 20,120 17,300 2,820
ok, t4® NE=&EH 13,620 11,300 2,320
201 eI 8,300 1,900 6,400
01 Atf2teld 8,300 1,900 6,400
O1. et=ZH| 8,300
>0 o SRl ERE M
50,000& 105 *23] 1,000
DOolZAL] MAH ZEZ 300,000& «124 300
DEIDI SIOFE 4018 HE(SRISAI
50, 000& = 1004 5,000
>oloFE £0] £42(SRTAI)
2,000,000& =14 2,000
202 01t 4,320 8,400 4,080
01 SLHAHHI 4,320 8,400 A4,080
ootz otdate| 360,000& *12& 4,320
301 Lptsazg 1,000 1,000 0
12 JIEt2 &3 1,000 1,000 0
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FAN: BAHA

o
Ha: #YLARY|
Crol ol 2 b (22N D) (el @l
SA-E . S(E) - MEAY - BES 0 & 24 e HIRE
@)k EA 40,0003 562! 2,240
04 RAM2IIRF=LH 5,760 5,880 A 120
O2A AN 480,000 128 5,760
J2 P (BAAL D) 66,710 69,550 A2,840
JI2ZHl (22 A1) 66,710 69,550 AN2,840
201 LEH= | 53,400 46,340 7,060
01 AtR2cidl 45,000 39,500 5,500
O1. get=ZH| 29,800
>EAS YA BY| 4,000, 00021 %14} 4,000
DHFAMFII ARS 2,000,000& x12& 24,000
DEEMNTZZ 600,000 =14 600
DEAZBAAE A SHAZZ )
500, 000& »2CH 1,000
DYHEINNZ 20,000& =10 200
08. 2d=+¢ 11,000
DX =g 50,0008 221110 11,000
O5. S| 4,200
Do 5227 7,000 502! x 12 4,200
02 =224 8,400 6,840 1,560
O1. 2223z 2 HAl 8,400
PRERS 200,000 128 2,400
RSl R = 350,000& 123 4,200
PRAYSE 150,000& =122 1,800
202 OdHl 9,710 4,010 5,700
01 =LAl 9,710 4,010 5,700
OJl=gf==d 9,710,000& » 14! 9,710
405 KHeHE SHI 3,600 19,200 A 15,600
01 L SEFHSHI 3,600 19,200 A 15,600
OF= [V pEES= D) 700,000& »3CH 2,100
OCIXIEJtoilict 500, 000& »2CH 1,000
OZctZe Il 500, 0003 1CH 500




